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QUESTION 1

Which two security threats are negated by encrypting network transactions with Transport Layer Security (TLS)? 

A. SQL injection 

B. Session hijacking 

C. Man in the middle 

D. Cross-site scripting 

E. Denial of service 

Correct Answer: BC 

 

QUESTION 2

ABC Travel offers a night reservation service, exposed as a web service. XYZ Stays offers a hotel reservation service,
also exposed as a web service. ABC and XYZ will not change their web service. A startup company has contacted you
for 

advice about designing a new service that combines flight and hotel reservations, which they will offer as a web service. 

The startup company plans to provide their service by implementing a portable Java EE solution that aggregates the two
services offered by ABC Travel and XYZ Stays, a combined reservation succeeded. 

Only if both the flight reservation and the hotel reservation succeed 

Which is the most effective way to meet the business requirement? 

A. The startup company should implement their new service as a web service that uses an XA transaction manager. 

B. The startup company cannot implement their new service as a web service, but must use an enterprise JavaBean
(EJB) component to gain transaction propagation. 

C. The startup company should implement their new service as a web service by calling the two existing services, and
implementing their own compensating transaction. 

D. The startup company can implement their new service as a web service by calling the two existing services in a
single transaction, relying on transaction propagation to support this business rule. 

Correct Answer: C 

 

QUESTION 3

You are the architect of a web application that uses javaServer Faces (JSF) as a presentation tier for business
processes coded as stateless session beans. When you add new code to the stateless session 

100% Real QandAs | 100% Real Pass 

1Z0-807 VCE Dumps | 1Z0-807 Exam Questions | 1Z0-807 Braindumps                                2 / 4

https://www.pass2lead.com/1z0-807.html
https://www.pass2lead.com/1z0-807.html
https://www.pass2lead.com/1z0-807.html


https://www.pass2lead.com/1z0-807.html
2024 Latest pass2lead 1Z0-807 PDF and VCE dumps Download

beans to address new accounting requirements, without changing the interface, you discover that the new business
processes are being ignored by some of the JSF components. 

What might be the cause of this problem? 

A. The presentation tier is relying on validation logic in the business tier. 

B. The browser is caching out-of-date versions of the JSF components. 

C. The business processes are not rigorously encapsulated in the session beans. 

D. The new session beans have been deployed incorrectly, and proper deployment will resolve the problem. 

Correct Answer: C 

 

QUESTION 4

You are designing a bank application in which automated email reminders are sent to customers every 24 hours,
starting from five days prior to a payment due date until the payment is made? Which type of beans most closely match
the implementation needs for this requirement? 

A. Stateful session bean 

B. Stateless session bean 

C. Managed bean 

D. Message-driven bean 

Correct Answer: D 

 

QUESTION 5

You have been recruited by an online retailer of footwear to conduct a review of their online systems. Your primary
Finding is that the development team has implemented duplicated complex business logic as Java scripts directly into
the JSPs, causing performance, scalability, and maintainability issues. 

Which two design patterns would you select to improve the current code base? 

A. View Helper 

B. From Controller 

C. Composite View 

D. Service-to-Worker 

E. Business Delegate 

Correct Answer: BD 
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